F BB R/ BB — IR AR :

PEEK/NO o *@H I}

SRR Size (mm) SRR Size (mm)
Part Number M DK K n Part Number M DK K n
04000N0020040004 M2x6 3.85 1.2 063 04000NO060100030 M6x30 11.79 345 179
04000N0025045006 M2.5x6 4.85 143 0.73 04000N0060100035 M6x35 11.79 345 179
04000N0025045008 M2.5x8 4.85 143 0.73 04000N0060100040 M6x40 11.79 345 179
04000N0025045010 M25x10 485 143 0.73 04000N0060100045 M6x45 11.79 345 1.79
04000N0025045012 M2.5x12 485 143 0.73 04000N0060100050 M6x50 11.79 345 1.79
04000N0025045016 M2.5x16 4.85 143 0.73 04000N0060100060 M6x60 11.79 345 179
04000N0030050004  M3x4 545 173 093 04000N0060100065 M6x65 11.79 345 179
04000N0030050005 M3x5 545 173 093 04000N0080125016  M8x16 15.79 4.65 219
04000N0030050006  M3x6 545 173 093 04000N0080125020 M8x20 15.79 4.65 219
04000N0030050008 M3x8 545 173 093 04000N0080125025 M8x25 1579 4.65 219
04000N0030050010 M3x10 545 173 093 04000N0080125030 M8x30 15.79 4.65 219
04000N0030050012 M3x12 545 173 093 04000N0080125035 M8x35 1579 4.65 219
04000N0030050016  M3x16 545 173 093 04000N0080125040 M8x40 15.79 4.65 219
04000N0030050020 M3x20 545 173 093 04000N0080125050 M8x50 15.79 4.65 219
04000N0030050025  M3x25 545 173 093 04000N0080125065 M8x65 15.79 4.65 219
04000N0040070006  M4x06 7.82 233 1.39

04000N0040070008 M4x08 7.82 233 1.39

04000N0040070010 M4x10 7.82 233 1.39

04000N0040070012 M4x12 7.82 233 1.39

04000N0040070016  M4x16 7.82 233 1.39

04000N0040070020 M4x20 7.82 233 1.39

04000N0040070025 M4x25 782 233 1.39

04000N0040070030 M4x30 7.82 233 1.39

04000N0040070031  M4x35 7.82 233 1.39

04000N0050080010  M5x10 932 294 1.39

04000N0050080012 M5x12 932 294 1.39

04000N0050080016  M5x16 932 294 1.39

04000N0050080020 M5x20 932 294 1.39

04000N0050080025  M5x25 932 294 1.39

04000N0050080030  M5x30 932 294 1.39

04000N0050080035 M5x35 932 294 1.39

04000N0050080060  M5x60 932 294 1.39

04000N0060100006  M6x6  11.79 345 1.79

04000N0060100008 M6x8 1179 345 1.79

04000N0060100010  M6x10 11.79 345 1.79

04000N0060100006  M6x12 11.79 345 1.79

04000N0060100016  M6x16 11.79 345 1.79

04000N0060100020 M6x20 11.79 345 1.79

04000N0060100025  M6x25 11.79 345 1.79

hr#EPRE BIENLTT



RRA /B E—F R4

PVDF/NO b T—

EH4RT FRI& Size (mm) EH4RoR R Size (mm)
Part Number M DK K n Part Number M DK K
05000N0020050006 M2x6 3.85 1.23 0.63 05000N0060100045 M6x45 1179 345 1.79

05000N0020050008 M2x8 385 123 0.63 05000N0060100050 M6x50 11.79 345 179
05000N0020040010 M2x10 385 123 063 05000N0060100060 M6x60 11.79 345 179
05000N0020040012 M2x12 385 123 063 05000N0080125016 M8x16 1579 465 219
05000N0020040016 M2x16 385 123 0.63 05000N0080125020 M8x20 1579 465 219
05000N0030050004  M3x4 545 173 093 05000N0080125025 M8x25 1579 465 219
05000N0030050005  M3x5 545 173 093 05000N0080125030 M8x30 1579 465 219
05000N0030050006  M3x6 545 173 093 05000N0080125035 M8x35 1579 465 219
05000N0030050008  M3x8 545 173 093 05000N0080125040 M8x40 1579 465 219
05000N0030050010 M3x10 545 173 093 05000N0080125050 M8x50 1579 465 219
05000N0030050012 M3x12 545 173 0.93 05000N0080125065 M8x60 1579 465 219
05000N0030050016  M3x16 545 173 093 05000N0080125100 M8x100 1579 465 219
05000N0030050020 M3x20 545 173 093 05000N0100150100 M10x100 19.74 585 2.69
05000N0030050025 M3x25 545 173 093
05000N0040070006 M4x06 7.82 233 139
05000N0040070008 M4x08 7.82 233 139
05000N0040070010 M4x10 7.82 233 139
05000N0040070012 M4x12 782 233 139
05000N0040070016 M4x16 782 233 139
05000N0040070020 M4x20 782 233 139
05000N0040070025 M4x25 7.82 233 139
05000N0040070030 M4x30 7.82 233 139
05000N0040070040 M4x40 7.82 233 139
05000N0050080010 M5x10 932 294 139
05000N0050080012  M5x12 932 294 139
05000N0050080016 ~ M5x16 932 294 139
05000N0050080020 M5x20 932 294 139
05000N0050080025  M5x25 932 294 139
05000N0050080030  M5x30 932 294 139
05000N0050080035 M5x35 932 294 139
05000N0060100006 M6x6  11.79 345 179
05000N0060100008 M6x8 1179 345 179
05000N0060100010 M6x10 1179 345 179
05000N0060100006  M6x12 1179 345 179
05000N0060100016  M6x16 1179 345 1.79
05000N0060100020 M6x20 11.79 345 1.79
05000N0060100025 M6x25 1179 345 179
05000N0060100030  M6x30 11.79 345 179
05000N0060100035 M6x35 1179 345 1.79
05000N0060100040 M6x40 1179 345 179

a

hrtEFRA BIEN T



FE /B8R —F 12 44

PTFE/NO

EH4RoR
Part Number
29000N0030050004

29000N0030050006
29000N0030050008
29000N0030050010
29000N0030050012
29000N0030050016
29000N0030050020
29000N0030050025
29000N0030050030
29000N0040070012
29000N0040070016
29000N0040070020
29000N0040070025
29000N0040070030
29000N0050080012
29000N0050080016
29000N0050080020
29000N0050080025
29000N0050080030
29000N0050080035
29000N0050080040
29000N0060100006
29000N0060100016
29000N0060100020
29000N0060100025
29000N0060100030
29000N0060100035
29000N0060100040
29000N0060100045
29000N0060100050
29000N0080125012
29000N0080125016
29000N0080125020
29000N0080125025
29000N0080125030
29000N0080125035
29000N0080125040
29000N0080125045
29000N0080125050

M
M3 x4
M3x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3x25
M3x30
M4 x12
M4 x16
M4 x20
M4 x25
M4 %30
M5x12
M5x16
M5x20
M5x25
M5x30
M5x35
M5x40
M6x12
M6x16
M6x20
M6x25
M6x30
M6x35
M6x40
M6x45
M6x50
M8x12
M8x16
M8x20
M8x25
M8x30
M8x35
M8x40
M8x45
M8x50

Size (mm)

DK
545
545
545
545
545
5.45
545
545
545
7.82
7.82
7.82
7.82
7.82
9.32
9.32
9.32
9.32
9.32
9.32
9.32
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
11.79
15.79
15.79
15.79
15.79
15.79
15.79
15.79
15.79
15.79

K
173
173
1.73
173
173
173
173
1.73
173
2.33
2.33
2.33
2.33
233
2.94
2.94
294
2.94
294
2.94
2.94
3.45
345
3.45
345
3.45
345
3.45
345
3.45
4.65
4.65
4.65
4.65
4.65
4.65
4.65
4.65
4.65

n
0.93
0.93
0.93
0.93
0.93
0.93
0.93
0.93
0.93
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.79
1.79
1.79
1.79
1.79
1.79
1.79
1.79
1.79
2.19
2.19
2.19
2.19
2.19
2.19
2.19
2.19
2.19

DI

EH4RR
Part Number
29000N0080125055

29000N0080125060
29000N0080125065
29000N0080125070
29000N0080125075
29000N0080125080
29000N0080125085
29000N0080125090
29000N0100150012
29000N0100150016
29000N0100150020
29000N0100150025
29000N0100150030
29000N0100150035
29000N0100150040
29000N0100150045
29000N0100150050
29000N0100150055
29000N0100150060
29000N0100150065
29000N0100150070
29000N0100150075
29000N0100150080
29000N0100150085
29000N0100150090
29000N0100150095
29000N0100150100

FRAEFRA BIENMATE

a

Ris
M

M8x55
M8x60
M8x65
M8x70
M8x75
M8x80
M8x85
M8x90
M10x12
M10x16
M10x20
M10x25
M10x30
M10x35
M10x40
M10x45
M10x50
M10x55
M10x60
M10x65
M10x70
M10x75
M10x80
M10x85
M10x90
M10x95

Size (mm)
DK K
1579 465
1579 465
1579 465
1579 465
1579 465
15.79 465
1579 465
1579 465
19.74 585
19.74 585
19.74 585
19.74 585
19.74 5.85
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 585
19.74 5.85
19.74 585

M10x100 19.74

5.85

n
2.19
219
2.19
219
2.19
219
2.19
2.19
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69
2.69



ERRAEEE/BIE—FIRA

PFA/NO @ S

BRI R Size (mm)

Part Number M DK K n
31000N0040070006 M4 x06 7.82 2.33 1.39
31000N0040070008 M4 x08 7.82 2.33 1.39
31000N0040070012 M4 x12 7.82 2.33 1.39
31000N0040070016 M4x16 7.82 2.33 1.39
31000N0040070020 M4 x20 7.82 2.33 1.39
31000N0040070025 M4 x 25 7.82 2.33 1.39
31000N0040070030 M4 x30 7.82 2.33 1.39
31000N0040070035 M4 x 35 7.82 2.33 1.39
31000N0040070040 M4 x40 7.82 2.33 1.39
31000N0050080006 M5x06 9.32 2.94 1.39
31000N0050080008 M5x08 9.32 294 1.39
31000N0050080010 M5x10 9.32 2.94 1.39
31000N0050080012 M5x12 9.32 294 1.39
31000N0050080016 M5x16 9.32 2.94 1.39
31000N0050080020 M5x20 9.32 294 1.39
31000N0050080025 M5x 25 9.32 2.94 1.39
31000N0050080030 M5x30 9.32 294 1.39
31000N0050080035 M5x35 9.32 2.94 1.39
31000N0050080040 M5 x40 9.32 294 1.39
31000N0060100006 M6x6 11.79 3.45 1.79
31000N0060100008 M6x8 11.79 345 1.79
31000N0060100010 M6x10 11.79 3.45 1.79
31000N0060100012 M6x12 11.79 345 1.79
31000N0060100016 M6x16 11.79 3.45 1.79
31000N0060100020 M6x20 11.79 345 1.79
31000N0060100025 M6x25 11.79 3.45 1.79
31000N0060100030 M6x%30 11.79 345 1.79
31000N0060100035 M6x35 11.79 3.45 1.79
31000N0060100040 M6 x40 11.79 345 1.79
31000N0080125010 M8x10 15.79 4.65 2.19
31000N0080125012 M8x12 15.79 4.65 2.19
31000N0080125016 M8x16 15.79 4.65 2.19
31000N0080125020 M8x20 15.79 4.65 2.19
31000N0080125025 M8x 25 15.79 4.65 2.19
31000N0080125030 M8x%30 15.79 4.65 2.19
31000N0080125035 M8x 35 15.79 4.65 2.19
31000N0080125040 M8 x40 15.79 4.65 2.19
31000N0080125045 M8x45 15.79 4.65 2.19
31000N0080125050 M8x50 15.79 4.65 2.19
31000N0080125055 M8x55 15.79 4.65 2.19
31000N0080125060 M8x 60 15.79 4.65 2.19
31000N1001500010 M10x10 19.74 5.85 2.69
31000N1001500020 M10x20 19.74 5.85 2.69
31000N1001500025 M10x25 19.74 5.85 2.69
31000N1001500030 M10x30 19.74 5.85 2.69
31000N1001500035 M10x35 19.74 5.85 2.69
31000N1001500040 M10x40 19.74 5.85 2.69
31000N1001500045 M10x45 19.74 5.85 2.69
31000N1001500050 M10x50 19.74 5.85 2.69
31000N1001500055 M10x55 19.74 5.85 2.69
31000N1001500060 M10x60 19.74 5.85 2.69

AR BIENTE



AN B/ 28 0E —F IR 44

PPS/NO

= i
Part Number
06000N0020040006

06000N0020040008
06000N0020040010
06000N0020040012
06000N0020040016
06000N0030050004
06000N0030050005
06000N0030050006
06000N0030050008
06000N0030050010
06000N0030050012
06000N0030050016
06000N0030050020
06000N0030050025
06000N0040070006
06000N0040070008
06000N0040070010
06000N0040070012
06000N0040070016
06000N0040070020
06000N0040070025
06000N0040070030
06000N0040070040
06000N0050080006
06000N0050080008
06000N0050080010
06000N0050080012
06000N0050080016
06000N0050080020
06000N0050080025
06000N0050080030
06000N0050080035
06000N0060100006
06000N0060100008
06000N0060100010
06000N0060100006
06000N0060100016
06000N0060100020
06000N0060100025
06000N0060100030
06000N0060100035
06000N0060100040

&
M

M2x6

M2x8

M2x10
M2x12
M2x16
M3 x4

M3 x5

M3x6

M3x8

M3x10
M3x12
M3x16
M3x20
M3x25
M4 x06
M4 x08
M4 x10
M4x12
M4 x16
M4 x20
M4 x25
M4 x30
M4 x40
M5x6

M5x8

M5x10
M5x12
M5x16
M5x20
M5x25
M5x30
M5x35
M6x6

M6x8

M6x10
M6x12
M6x16
M6x20
M6x25
M6x30
M6x35
M6x40

=Y

Size (mm)

DK
3.85

3.85
3.85
3.85
3.85
545
545
545
545
545
545
545
545
545
7.82
7.82
7.82
7.82
7.82
7.82
7.82
7.82
7.82
9.32
9.32
9.32
9.32
9.32
9.32
9.32
9.32
9.32
11.8
11.8
11.8
11.8
11.8
11.8
11.8
11.8
11.8
11.8

K
123
1.23
123
1.23
123
173
173
173
173
173
173
173
1.73
173
233
2.33
233
2.33
2.33
2.33
233
2.33
233
2.94
2.94
2.94
2.94
2.94
2.94
2.94
2.94
2.94
3.45
3.45
3.45
3.45
3.45
3.45
3.45
3.45
3.45
3.45

n
0.63
0.63
0.63
0.63
0.63
0.93
0.93
0.93
0.93
0.93
0.93
0.93
0.93
0.93
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.39
1.79
1.79
1.79
1.79
1.79
1.79
1.79
1.79
1.79
1.79

B4R
Part Number
06000N0060100045

06000N0060100050
06000N0060100060
06000N0080125016
06000N0080125020
06000N0080125025
06000N0080125030
06000N0080125035
06000N0080125040
06000N0080125050
06000N0080125060
06000N0080125100
06000N0100150100

hr#EFRE BENF

=3

18

M
M6x45
M6x50
M6x60
M8x16
M8x20
M8x25
M8x30
M8x35
M8 x40
M8x50
M8x60
M8x100
M10x100

Size (mm)

DK
11.79
11.79
11.79
15.79
15.79
15.79
15.79
15.79
15.79
15.79
15.79
15.79
17.79

K
3.45

3.45
3.45
4.65
4.65
4.65
4.65
4.65
4.65
4.65
4.65
4.65
5.85

n
1.79
1.79
1.79
219
219
2.19
219
2.19
2.19
219
219
219
2.69



A e/ BIE—F IR

PP/NO s —

Q

EH 4R R Size (mm) EH 4R FRI& Size (mm)
Part Number M DK K n Part Number M DK K n

01040N0020040006 M2x6  3.85 123 0.63 01040N0080125016 M8x16 1579 465 219
01040N0020040008 M2x8  3.85 123 0.63 01040N0080125020 M8x20 1579 465 219
01040N0020040010 M2x10 3.85 123 0.63 01040N0080125025 M8x25 1579 465 219
01040N0020040016 M2x16 3.85 123 0.63 01040N0080125030 M8x30 1579 465 219
01040N0030050004 M3x4 545 173 093 01040N0080125035 M8x35 1579 465 219
01040N0030050005 M3x5 545 173 093 01040N0080125040 M8x40 1579 465 219
01040N0030050006 M3x6 545 173 093 01040N0080125050 M8x50 1579 465 219
01040N0030050008 M3x8 545 173 093 01040N0080125060 M8x60 1579 465 219
01040N0030050010 M3x10 545 173 093 01040N0080125100 M8x100 1579 465 219
01040N0030050012 M3x12 545 173 093 01040N0100150100 M10x100 19.74 585 2.69
01040N0030050016 M3x16 545 173 0093
01040N0030050020 M3x20 545 173 093
01040N0030050025 M3x25 545 173 093
01040N0040070006  M4x6 782 233 139
01040N0040070008 M4x8 782 233 139
01040N0040070010 M4x10 7.82 233 1.39
01040N0040070012 M4x12 7.82 233 139
01040N0040070016 M4x1l6 7.82 233 1.39
01040N0040070020 M4x20 7.82 233 1.39
01040N0040070025 M4x25 7.82 233 139
01040N0040070030 M4x30 7.82 233 1.39
01040N0040070040 M4x40 7.82 233 1.39
01040N0050080006  M5x6 932 294 139
01040N0050080008 M5x8 932 294 139
01040N0050080010 M5x10 932 294 1.39
01040N0050080012 M5x12 932 294 139
01040N0050080016  M5x16 932 294 1.39
01040N0050080020 M5x20 932 294 1.39
01040N0050080025 M5x25 932 294 139
01040N0050080030 M5x30 932 294 1.39
01040N0050080035 M5x35 932 294 1.39
01040N0060100006 M6x6  11.79 345 179
01040N0060100008 M6x8 1179 345 1.79
01040N0060100010 M6x10 1179 345 1.79
01040N0060100012 M6x12 1179 345 179
01040N0060100016 M6x16 1179 345 1.79
01040N0060100020 M6x20 1179 345 1.79
01040N0060100025 M6x25 1179 345 179
01040N0060100030 M6x30 1179 345 179
01040N0060100035 M6x35 1179 345 1.79
01040N0060100040 M6x40 11.79 345 179
01040N0060100045 M6x45 1179 345 179
01040N0060100050 M6x50 1179 345 179
01040N0060100060 M6x60 11.79 345 179

hR#EFRA BIENM3E



=%

BE IG5 /BBIE—F 1244 Dkt i
pvC/NO @

EH 4R g Size (mm) B4R R Size (mm)
Part Number M DK K n Part Number M DK K n
03030N0020040006 M2x6 3.85 1.23 0.63 03030N0060100045 M6x45 1179 345 1.79

03030N0020040008 M2x8 385 123 0.63 03030N0060100050 M6x50 11.79 345 1.79
03030N0020040010 M2x10 385 123 0.63 03030N0060100060 Méx60 11.79 345 179
03030N0020040012 M2x12 385 123 0.63 03030N0080125016 M8x16 1579 4.65 219
03030N0020040016 M2x16 385 123 0.63 03030N0080125020 M8x20 1579 465 219
03030N0030050004 M3 x4 545 173 093 03030N0080125025 M8x25 1579 465 219
03030N0030050005 M3 x5 545 173 093 03030N0080125030 M8x30 1579 465 219
03030N0030050006 M3 x6 545 173 093 03030N0080125035 M8x35 1579 465 219
03030N0030050008 M3x8 545 173 093 03030N0080125040 M8x40 1579 4.65 219
03030N0030050010 M3x10 545 173 093 03030N0080125050 M8x50 1579 4.65 219
03030N0030050012 M3x12 545 173 0.93 03030N0080125060 M8x60 1579 4.65 219
03030N0030050016 M3x16 545 173 0.93 03030N0080125100  M8x100 1579 465 2.19
03030N0030050020 M3x20 545 173 0.93 03030N0100150100 M™M10x100 19.74 585 2.69
03030N0030050025 M3x25 545 173 0.93
03030N0040070006 M4x06 7.82 233 1.39
03030N0040070008 M4x08 7.82 233 139
03030N0040070010 M4x10 7.82 233 139
03030N0040070012 M4x12 782 233 139
03030N0040070016 M4x1l6 7.82 233 1.39
03030N0040070020 M4x20 7.82 233 139
03030N0040070025 M4x25 782 233 139
03030N0040070030 M4x30 7.82 233 139
03030N0040070040 M4x40 7.82 233 1.39
03030N0050080006  M5x6 932 294 139
03030N0050080008 M5x8 932 294 139
03030N0050080010 M5x10 932 294 139
03030N0050080012 M5x12 932 294 139
03030N0050080016 M5x16 932 294 139
03030N0050080020 M5x20 932 294 139
03030N0050080025 M5x25 932 294 139
03030N0050080030 M5x30 932 294 139
03030N0050080035 M5x35 932 294 139
03030N0060100006 Méx6 1179 345 179
03030N0060100008 M6x8 1179 345 1.79
03030N0060100010 M6x10 1179 345 1.79
03030N0060100006 M6x12 1179 345 1.79
03030N0060100016 Méx16 1179 345 1.79
03030N0060100020 M6x20 1179 345 1.79
03030N0060100025 Méex25 1179 345 1.79
03030N0060100030 M6x30 1179 345 1.79
03030N0060100035 Mé6x35 1179 345 1.79
03030N0060100040 Mé6x40 1179 345 1.79

WRtEFR7A BENLT



Q

[EFE+GF/B2ER—F 1244 _— |
Nylon+GF/No @ 5 |

EH 4R R Size (mm) SH4RE R Size (mm)
Part Number Y/ DK K n Part Number M DK K n
09000N0020040006 M2x6 3.85 1.23 0.63 09000N0060100030 M6x30 11.79 345 179

09000N0020040008 M2x8 385 123 063 09000N0060100035 M6x35 11.79 345 179
09000N0020040010 M2x10 385 123 0.3 09000N0060100040 M6x40 1179 345 1.79
09000N0020040012 M2x12 385 123 0.63 09000N0060100045 M6x45 11.79 345 179
09000N0020040016 M2x16 385 123 0.3 09000N0060100050 M6x50 1179 345 1.79
09000N0030050004 M3x4 545 173 093 09000N0060100060 M6x60 11.79 345 179
09000N0030050005  M3x5 545 173 093 09000N0080125016 M8x16 1579 465 219
09000N0030050006  M3x6 545 173 093 09000N0080125020 M8x20 1579 465 219
09000N0030050008  M3x8 545 173 093 09000N0080125025 M8x25 1579 465 219
09000N0030050010 M3x10 545 173 0.93 09000N0080125030 M8x30 1579 465 219
09000N0030050012 M3x12 545 173 093 09000N0080125035 M8x35 1579 465 219
09000N0030050016 M3x16 545 173 0.93 09000N0080125040 M8x40 1579 465 219
09000N0030050020 M3x20 545 173 093 09000N0080125050 M8x50 1579 465 219
09000N0030050025 M3x25 545 173 093 09000N0080125060 M8x60 1579 465 219
09000N0040070006 M4x06 7.82 233 1.39 09000N0080125100 M8x100 1579 465 219
09000N0040070008 M4x08 7.82 233 1.39 09000N0100150100 M10x100 19.74 585 2.69
09000N0040070010 M4x10 7.82 233 1.39
09000N0040070012 M4x12 782 233 139
09000N0040070016 M4x1l6 7.82 233 1.39
09000N0040070020 M4x20 782 233 1.39
09000N0040070025 M4x25 782 233 1.39
09000N0040070030 M4x30 7.82 233 1.39
09000N0040070040 M4x40 7.82 233 1.39
09000N0050080006  M5x6 932 294 139
09000N0050080008 M5x8 932 294 139
09000N0050080010 M5x10 932 294 139
09000N0050080012 M5x12 932 294 139
09000N0050080016 M5x16 932 294 1.39
09000N0050080020 M5x20 932 294 1.39
09000N0050080025 M5x25 932 294 139
09000N0O050080030 M5x30 932 294 139
09000N0050080035 M5x35 932 294 139
09000N0060100006 M6x6 1179 345 1.79
09000N0060100008 M6%x8 1179 345 1.79
09000N0060100010 M6x10 1179 345 1.79
09000N0060100006 M6x12 1179 345 1.79
09000N0060100016  M6x16 1179 345 1.79
09000N0060100020 M6x20 1179 345 1.79
09000N0060100025 M6x25 1179 345 1.79

Wr#EPRAE BN T



[ERE /380 —F IR 4%

Nylon/NO D i—

EH4RIR FRI& Size (mm) EH4RIR FRI& Size (mm)
Part Number M DK K n Part Number M DK K n
00000N0020040006 M2x6 3.85 1.23 063 00000NO0060100035 M6x35 1179 345 179

00000N0020040008 M2x8 385 123 063 00000N0060100040 M6x40 1179 345 179
00000N0020040010 M2x10 3.85 123 0.63 00000N0060100045 M6x45 1179 345 179
00000N0020040012 M2x12 385 123 0.63 00000N0060100050 Mé6x50 1179 345 1.79
00000N0020040016 M2x16 3.85 123 0.63 00000N0060100060 Méex60 1179 345 179
00000N0030050004 M3 x4 545 173 093 00000N0060100065 Mé6x65 11.79 345 1.79
00000N0030050005 M3 x5 545 173 093 00000N0080125016 M8x16 1579 465 219
00000N0030050006 M3 x6 545 173 093 00000N0080125020 M8x20 1579 4.65 219
00000N0030050008 M3x8 545 173 093 00000N0080125025 M8x25 1579 465 219
00000N0030050010 M3x10 545 173 093 00000N0080125030 M8x30 1579 465 219
00000N0030050012 M3x12 545 173 0093 00000N0080125035 M8x35 1579 465 219
00000N0030050016 M3x16 545 173 0093 00000N0080125040 M8x40 1579 465 219
00000N0030050020 M3x20 545 173 093 00000N0080125050 M8x50 1579 465 219
00000N0030050025 M3x25 545 173 0093 00000N0080125060 M8x60 1579 4.65 219
00000N0040070006 M4x06 782 233 139 00000N0080125065 M8x65 1579 465 219
00000N0040070008 M4x08 7.82 233 139 00000N0080125100 M8x100 1579 4.65 219
00000N0040070010 M4x10 782 233 139 00O000N0100150100 M10x100 19.74 585 2.69
00000N0040070012 M4x12 782 233 139
00000N0040070016 M4xle 782 233 139
00000N0040070020 M4x20 782 233 139
00000N0040070025 M4x25 782 233 139
00000N0040070030 M4x30 782 233 139
00000N0040070040 M4x40 782 233 139
00000N0050080006 M5 x6 932 294 139
00000N0050080008 M5x8 932 294 139
00000N0050080010 M5x10 932 294 139
00000N0050080012 M5x12 932 294 139
00000N0050080016 M5x16 932 294 139
00000N0050080020 M5x20 932 294 139
00000N0050080025 M5x25 932 294 139
00000N0050080030 M5x30 932 294 139
00000N0050080035 M5x35 932 294 139
00000N0060100006 Méex6 1179 345 1.79
00000N0060100008 M6x8 1179 345 1.79
00000N0060100010 M6x10 11.79 345 1.79
00000N0060100006 M6x12 1179 345 179
00000N0060100016 M6x16 11.79 345 179
00000N0060100020 M6x20 1179 345 179
00000N0060100025 M6x25 1179 345 179
00000N0060100030 M6x30 1179 345 1.79

hr#EPRA BIENL R



	PEEK
	PVDF
	PTFE
	PFA
	PPS
	PP
	PVC
	Nylon
	Nylon N0



